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a) 40% of 160
b) 60% of120

c) 30% of 250

If 15 is 10% of a number, what is the number?

If 30 is 10% of a number, what is the number?

If 28 is 20% of a number, what is the number?

If 80 is 50% of a number, what is the number?




Use a bar model to help you if you need.

10% of =

40% of =

25

36

% of 300 is 120

25% of = 250




Working Deeper

A golf club has 200 members.
58% of the members are male.

50% of the female members are children.

(@) How many male members are in the golf club?

(b) How many female children are in the golf club?




